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Acc. balance: 

2.000.000 

12.000.000 

15.000.000 

Acc. balance 

2.000.000 

12.000.000 

15.000.000 
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Acc. balance: 

2.000.000 

12.000.000 

15.000.000 

Acc. balance Wealth 

+ 2.000.000 = 32.000.000 

+ 12.000.000 = 36.000.000 

+ 15.000.000 = 52.000.000 



Comunio 
„reallocate Wealth“ 

5 

Acc. balance: 

2.000.000 

12.000.000 

15.000.000 

Acc. balance Wealth ½ Wealth 

+ 2.000.000 = 32.000.000 = 16.000.000 

+ 12.000.000 = 36.000.000 = 18.000.000 

+ 15.000.000 = 52.000.000 = 26.000.000 
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Acc. balance: 

2.000.000 

12.000.000 

15.000.000 

Acc. balance Wealth ½ Wealth 

+ 2.000.000 = 32.000.000 = 16.000.000 

+ 12.000.000 = 36.000.000 = 18.000.000 

+ 15.000.000 = 52.000.000 = 26.000.000 
___________
Σ  60.000.000 

= Pool 
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Acc. balance: 

2.000.000 

12.000.000 

15.000.000 

Acc. balance Wealth ½ Wealth 

+ 2.000.000 = 32.000.000 = 16.000.000 

+ 12.000.000 = 36.000.000 = 18.000.000 

+ 15.000.000 = 52.000.000 = 26.000.000 
___________
Σ  60.000.000 

= Pool 

 

 3 Players: 60 M / 3 Players = 20 M per Manager 
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Acc. balance: 

2.000.000 

12.000.000 

15.000.000 

Acc. balance Wealth ½ Wealth 

+ 2.000.000 = 32.000.000 = 16.000.000 

+ 12.000.000 = 36.000.000 = 18.000.000 

+ 15.000.000 = 52.000.000 = 26.000.000 
___________
Σ  60.000.000 

= Pool 

Player ½ Wealth Pool, Anteil Wealth, new 

Heinz 16.000.000 + 20.000.000 = 36.000.000 

Rudolf 18.000.000 + 20.000.000 = 38.000.000 

Kevin 26.000.000 + 20.000.000 = 46.000.000 

 20.000.000 per Player 
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Acc. balance: 

2.000.000 

12.000.000 

15.000.000 

Acc. balance Wealth ½ Wealth 

+ 2.000.000 = 32.000.000 = 16.000.000 

+ 12.000.000 = 36.000.000 = 18.000.000 

+ 15.000.000 = 52.000.000 = 26.000.000 
___________
Σ  60.000.000 

= Pool 

 20.000.000 per Player 

Player Wealth, new Team value Acc. balance, new 

Heinz 36.000.000 - 30.000.000 =   6.000.000 

Rudolf 38.000.000 - 24.000.000 = 14.000.000 

Kevin 46.000.000 - 37.000.000 =   9.000.000 
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Acc. balance: 

2.000.000 

12.000.000 

15.000.000 

Acc. balance Wealth ½ Wealth 

+ 2.000.000 = 32.000.000 = 16.000.000 

+ 12.000.000 = 36.000.000 = 18.000.000 

+ 15.000.000 = 52.000.000 = 26.000.000 
___________
Σ  60.000.000 

= Pool 

 20.000.000 per Player 

Player Wealth, new Team value Acc. balance, new 

Heinz 36.000.000 - 30.000.000 =   6.000.000 

Rudolf 38.000.000 - 24.000.000 = 14.000.000 

Kevin 46.000.000 - 37.000.000 =   9.000.000 
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Player Wealth, before Wealth, new 

Heinz  32.000.000 36.000.000 

Rudolf 36.000.000 38.000.000 

Kevin 52.000.000 46.000.000 


